## Frequency Response " Laplace Transform x(t) o LTI - y(t) y(+) = h(+) \* x(+) L Y(1) = H(1) X(1) H(+): Transfer function X(+) => The frequency response is defermined as: H(w) = H(x)

EX: Determine the frequency response of the system with transfer function:

$$T(s) = \frac{3f+1}{s^2+5}$$

$$H(\omega) = T(1) = \frac{1+j3\omega}{5-\omega^2}$$

$$f(\omega) = \frac{1+j3\omega}{5-\omega^2}$$

4.9] steady state response of LTT system using ET

"periodic signals"

$$X(t) = \sum_{n=-\infty}^{\infty} X_n e^{-\frac{1}{2}t} + \sum_{n=-\infty}^{\infty} X_n(t) = \sum_{n=-\infty}^{\infty} X_n(t) \times (f)$$

$$X(f) = \sum_{n=-\infty}^{\infty} X_n \cdot S(f-nf, t)$$

$$X(f) = H(f) \cdot \sum_{n=-\infty}^{\infty} X_n \cdot S(f-nf, t) = \sum_{n=-\infty}^{\infty} H(nf, t) \times S(f-nf, t)$$

$$Y(f) = H(f) \cdot \sum_{n=-\infty}^{\infty} X_n \cdot S(f-nf, t) = \sum_{n=-\infty}^{\infty} H(nf, t) \times S(f-nf, t)$$

$$Y(f) = \sum_{n=-\infty}^{\infty} H(nf, t) \times \sum_{n=-\infty}^{\infty} \frac{1}{2} \left[ \frac{1}{2$$

$$\frac{\partial \mathcal{E}}{\partial x} = \frac{\partial \mathcal{E}}{\partial x} \times (nf_{*}) + (nf_{*}) \times \\
y(t) = \frac{\partial \mathcal{E}}{\partial x} \times (nf_{*}) + (nf_{*}) \times \\
y(t) = \frac{\partial \mathcal{E}}{\partial x} \times (nf_{*}) + \frac{\partial \mathcal{E}}{\partial x} \times (nf_{*})$$

EX:- Find the ss response of the system with

the frequency perponse 
$$H(f) = \frac{10}{3+j2\pi f}$$

to the signal  $x(t) = \sum sinc(t-n\tau)$ 
 $y(t) = \sum f \cdot \chi(nf) \ H(nf) \ e$ 
 $\chi(f) = F[sinclt] = \pi(f)$ 
 $H(f) = \frac{10}{\sqrt{9+4\pi^2n^2f^2}} \left[\frac{2\pi f}{3}\right]$ 
 $\chi(f) = \sum_{n=-n}^{\infty} \left[\frac{10f \cdot \pi(nf)}{\sqrt{9+4\pi^2n^2f^2}}\right] \left[\frac{2\pi nf \cdot 1}{\sqrt{9+4\pi^2n^2f^2}}\right]$ 

## 4.9 Hilbert Transform

The aims to generate orthogonal signals

The Hilbert transform of 
$$x(r)$$
 is given by:

$$x(r) = x(r) * \frac{1}{\pi t}$$

$$x(r) = x(r) *$$

$$X(f) = \frac{A}{2} \delta(f - f) + \frac{A}{2} \delta(f + f)$$

$$X(f) = -i \left[ \frac{A}{2} \delta(f - f) + \frac{A}{2} \delta(f + f) \right] sgn(f)$$

$$X_{M}(f) = -i \left[ \frac{A}{2} \delta(f - f) + \frac{A}{2} \delta(f + f) \right] sgn(f)$$

$$=A\left[\frac{s(x-x.)-s(x+x.)}{z;}\right]$$

$$\chi(t) = A sin(w,t)$$